0. (a) 850
ot N 100
b) 675 6.75
o\l 00 2\ 46
3 3

¢) The power function
d) y = ax’, where a = 0.893421326 and b = 1.50983

1L@y= 1+ ae”

» = 0.4981144989, and ¢ = 500.855793 (b) 10.58 days

o, where a = 49.10976596,

2. (a) y=a+ blntwhere a = —7154.888, b = 1061.007, and y
s metric tons of coal produced in the year t (b} 915 metric tons

‘UMULATIVE REVIEW TEST FOR

‘HAPTERS 2,3, AND 4 = PAGE 367

. @) (—=00,00) () [-4,00) (¢) 12,0,0,2,2V3, undefined
d) x2—4,Vx+6,—4+h (e) g
f)feg=x+4~Vx+dgof=|x—2| flg(12)) =0,
(Ff12)) =10 (g g7'(x) = X*=4,x=0

Lo(a) 4,4,4,0,1 (B) v

—_

+ o] : /
Lo(a) f(x)= —2(x —2)* + 13 (b) Maximum 13
© v (d) Increasing on (~oo, 2];
decreasing on 2, 00)
10 (e) Shift upward 5 units

() Shift to the left 3 units

AN

L £D;9,.CrA s B KLE
5. (a) +£1,£2, =4, +8, =1 (b) 2,4, —3
©) P(x) = 2(x — 2)(x — 4)(x + %) (d) y

/

5. (a) 1 (multiplicity 2); —1, 1 + i, 1 — i (multiplicity 1)
B) O(x) = (x— DYx+ Dx—1-)x—1+1i)
©) Ox) = (x — 1)%(x + (@ — 2x + 2)

Answers to Section 5.1 A57

7. x-intercepts 0, —2; y-intercept 0; horizontal
asymptote y = 3; vertical asymptotes x = 2
andx = —1

9. (a) —4 (b) Slogx + 3 log(x — 1) — log(2x — 3)
10. (3 4 (b) In2,In4 11. (a) $29,396.15

(b) After 6.23 years (c) 12.837 years

12. (a) P(t) = 120e*%%" (b) 917 (c) After 49.8 months

CHAPTER 5

SECTION 5.1 m PAGE 375

1. @ (0,0),1 M x*+y*=1 (© @0 ()0 (i) O
i) 0 2. (a) tennmal (®) (0,1),(~=1,0),(0, —1),(1,0)
9. —-% 10. % -2V2[3 12 \/‘"/5 13. 3V5/7
14. V5/3 15. P( 3 16. P(2V2/3,-3)

17. P(-V5/3,3) 18. P(2V5/5, —V5/5)

19. Pg~\/§/3, —-Vi[3) 20. P(-%V21/5)

21. ¢ = w/4,(V2[2, V2[2); t = w[2,(0,1);

t = 3a/4, (= V2[2,V2[2); t = m,(~1,0);

t = 5m/4, %—\ﬁ/z, —V2/2); t = 372, (0, -1)

t = Tm/4, (V2[2, —V2[2); t = 2ar,(1,0)

22. t = w6, (V3[2,3);t = @[3, (3 V3/[2); £ = m[2, (0, 1);
t=2m/3,(=%,V3/2), t = 5u/6,(=V3[2,3); t = w,(-1,0);
t = Tm/6,(—V3/2, =3t = 4m[3, (=3, ~V3[2);

t = 3w/2,(0, - 1); ¢ = 573, (3, —V3/2);

¢ = 117/6, (V3[2,—3); t = 2, (1,0)

23. (0,1) 24. (0,—1) 25. (—V3/2,3) 26. (-V3/2,~3)
27. (3, -V3/[2) 28. (3, —-V3[2) 29. (—%, V3[2)

30. (0,-1) 3L (-V2/2,-V2/2) 32. (V3/2,~})
3@ (-3 ®»E-9 © (-3 —%) @ G9

4. @ G -V7/4) ® GV © (-3V/4)

@ (-3 -V7/4) -
35. (a) w/4 @) w3 (© #/3 @) 7/6

36. (@) w/6 ) w6 (c) w3 (@) w/4

37. (@) 2w/7 (b) 27/9 (¢) w —3=0.14

(@ 27— 5~1.28

38. (@) #/5 (b) 2mw/T (c) 2w — 6=~ 0.28

@ 7 - 2w =~0.72

39. (a) w3 ) (-3, V3/2)

40. (@) /3 () (-1, —V3/2)

41. (@) w/4 () (—V2/2,V2[2)

42. (a) w3 (b) (3. V3/2)

43. @) /3 ®) (-3 —V3/2)

4. (a) 76 ) (—V3/2,3)

45. (a) w/4 () (—V2/2,-V2/[2)
46. (@) w/6 () (V3/2,3)

47. (a) wf6  ®) (—V3/2,-3)

48. () w/4 () (V2/2,V2/2)
49. (@) 73 &) (3, V3/2)




